
GX270

WWW.RuMoto.Ru - Описание типов, опций, цвета для двигателей Honda GX270 (MTOC Manual Type Option Colour)
Model TypeOption AIRCLEANER CHARGE COIL CHOKE TYPE CONTROL BOX CUSTOMISED DEFLECTOR KIT ELECTRIC STARTER FUEL FILTER LABELING: CARB - EPA LABELING: EN LAMP COIL MUFFLER OIL ALERT PTO KEY TYPE REDUCTION REMARKS SHAFT DIAMETER SHAFT THREAD SPARK ARRESTOR SUPPLIED LOOSE THROTTLE CONTROL TOOLS ASSY WASHER&BOLT KIT MTO REMARK

GX270RT VKE4 LOW MOUNT 3 A DIAPHRAGM NO YES NO YES NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES AIRCLEANER, MUFFLER FIXED WRENCH SPARK PLUG NO CARB 3 not certified, with A/C purge joint

GEKO

Auto-choke

Supplied loose: combination switch, muffler, thermoswitch, spark arrester, aircleaner, rectifier

GX270RT VKX4 LOW MOUNT NO DIAPHRAGM NO YES NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES AIRCLEANER, MUFFLER FIXED WRENCH SPARK PLUG NO CARB 3 not certified, with A/C purge joint

GEKO

Auto-choke

Supplied loose: combination switch, muffler, thermoswitch, spark arrester, aircleaner

GX270RT VPE4 LOW MOUNT 1A DIAPHRAGM NO YES NO YES NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES AIRCLEANER, MUFFLER FIXED WRENCH SPARK PLUG NO CARB 3 not certified, with A/C purge joint

Supplied loose: aircleaner, spark arrester, muffler

PRAMAC

GX270RT VPE5 LOW MOUNT 1A DIAPHRAGM NO YES NO YES NO YES YES NO NO YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES AIR CLEANER FIXED WRENCH NO CARB 3 not certified, with A/C purge joint

Supplied loose: aircleaner, spark arrester

PRAMAC

GX270RT VPX4 LOW MOUNT NO DIAPHRAGM NO YES NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES AIRCLEANER, MUFFLER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: aircleaner, spark arrester, muffler

PRAMAC

GX270RT VPX5 LOW MOUNT NO DIAPHRAGM NO YES NO NO NO YES YES NO NO YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES AIR CLEANER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: aircleaner, spark arrester

PRAMAC

GX270RT VPX9 LOW MOUNT NO DIAPHRAGM NO YES NO NO NO YES YES NO NO YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES AIR CLEANER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: aircleaner, spark arrester

PRAMAC

Low noise engine stage 2: Al. push rod, plastic gear, low noise fan cover

GX270RT VS37 LOW MOUNT NO DIAPHRAGM NO NO NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES AIRCLEANER, MUFFLER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: muffler, aircleaner, spark arrester

Low noise engine: plastic gear

GX270RT VS39 LOW MOUNT NO DIAPHRAGM NO NO NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES AIRCLEANER, MUFFLER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: muffler, aircleaner, spark arrester

Low noise engine stage 2: Al. push rod, low noise fan cover

GX270RT VWT4 SILENT NO LEVER NO YES NO YES NO YES YES NO NO YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF NO EXHAUST GASKET FIXED NO NO CARB 3 not certified, with A/C purge joint

ELEKTROLUX

GX270T QBE1 OIL BATH 1A LEVER YES YES NO YES NO NO YES NO STD NO NO NO TILLER SPEC 1 INCH INT 7/16-20 UNF NO LEVER / REMOTE CABLE NO NO BCS,no stopswitch, 3600 -150RPM

GX270T QHB1 OIL BATH NO LEVER NO YES NO NO NO NO YES NO STD NO NO NO TILLER SPEC 1 INCH INT 7/16-20 UNF NO LEVER / REMOTE CABLE NO NO BCS,no stopswitch, 3600 -150RPM

GX270T VSP SILENT NO LEVER NO NO NO NO NO NO YES NO SILENT YES NO NO TAP 2 1/4"/FT INT 5/16-24 UNF NO FIXED NO NO EN-type only

GX270U SWS4 DUAL NO LEVER NO YES YES NO NO YES YES NO STD YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY #7X33 LEVER / REMOTE CABLE NO NO Swepac, std exhaust pipe

GX270UT HXQ4 SILENT NO LEVER NO NO YES NO IN TANK YES YES NO SILENT NO 6.3X6.3X43 1/6 (none) 1 INCH NO NO LEVER NO NO

GX270UT LXQ4 DUAL NO LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 1/2 (none) 25 MM INT M8 X 1,25 NO KEY #7X33 LEVER / REMOTE ROD NO NO

GX270UT QA2 DUAL NO LEVER NO NO YES NO IN TANK YES YES NO STD YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF YES WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO Balancer equipped

GX270UT QA4 DUAL NO LEVER NO NO YES NO IN TANK YES YES NO STD YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF YES WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO Balancer equipped

GX270UT QAQ4 DUAL NO LEVER NO NO YES NO IN TANK YES YES NO STD YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF YES WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO Balancer equipped

GX270UT QE SILENT NO LEVER NO NO YES NO IN TANK YES YES NO SILENT NO 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF YES WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO

GX270UT QHB4 DUAL NO LEVER NO YES NO NO NO YES YES NO STD NO NO NO NO STOP SWITCH 1 INCH INT 7/16-20 UNF NO NONE LEVER / REMOTE CABLE NO NO BCS, No engine switch, 3600 +0/-150 rpm

GX270UT QHQ4 DUAL NO LEVER NO NO NO NO NO YES YES NO STD NO 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX270UT QKE4 SILENT 10 A REMOTE NO YES NO YES IN TANK YES YES NO SILENT YES 6.3X6.3X43 NO NO RECOIL STARTER, ONLY CASE 1 INCH INT 7/16-20 UNF NO EXH. GASKETS,KEY # 6,3X43 LEVER / REMOTE CABLE NO NO No recoil starter, no muffler protector, no exhaust pipe, no stop switch

Supplied loose: muffler, exh. gasket

Intake vacuum joint

KAERCHER

GX270UT QME2 SILENT 10 A REMOTE YES NO NO YES IN TANK YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX270UT QWA4 CYCLONE NO LEVER NO NO YES NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX270UT QXB7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO low noise engine: plastic gear

GX270UT QXB9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO Low noise engine stage 2

Al. push rod, low noise fan cover

GX270UT QXC4 CYCLONE NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX270UT QXC9 CYCLONE NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO Electrolux China

GX270UT QXCU CYCLONE NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO Electrolux China

GX270UT QXE4 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX270UT QXQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 7/16-20 UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX270UT RHE4 DUAL 1A LEVER YES NO NO YES NO YES YES NO STD NO 7 X 7 X 33 1/2 W/CLUTCH (none) 22 MM INT M8 X 1,25 NO KEY #7X33 LEVER / REMOTE ROD NO NO

GX270UT RHG4 DUAL NO LEVER NO YES NO NO NO YES YES NO NO NO 7 X 7 X 33 1/2 W/CLUTCH NO FUEL TANK 22 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO SODIKART

No muffler,no fuel tank, carb insulator with vacuum take-off, recoil at 12o'clock

Supplied loose: nuts+exhaust gasket

GX270UT RHQ4 DUAL NO LEVER NO NO NO NO NO YES YES NO STD NO 7 X 7 X 33 1/2 W/CLUTCH (none) 22 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX270UT RXQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 1/2 W/CLUTCH (none) 22 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX270UT SHQ4 DUAL NO LEVER NO NO NO NO NO YES YES NO STD NO 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX270UT SMC4 DUAL NO LEVER NO NO NO NO IN TANK YES YES 12V-50W SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES WRENCH, KEY #7X33 LEVER WRENCH SPARK PLUG NO

GX270UT SME1 SILENT 10 A LEVER YES NO NO YES NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX270UT SME6 DUAL 10 A LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE CABLE NO NO

GX270UT SWA4 SILENT NO LEVER NO YES NO NO NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO PIPE PROT.,KEY #7X33 LEVER / REMOTE ROD NO NO No owners manual

GX270UT SWC4 DUAL NO LEVER NO YES NO NO NO YES YES NO STD YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO PIPE PROT.,KEY #7X33 LEVER / REMOTE ROD NO NO Wacker

No owners manual, silent muffler exhaust pipe (bigger dimension)

GX270UT SXB7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES KEY # 7X33 LEVER / REMOTE ROD NO NO Low noise engine: plastic gear

GX270UT SXB9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES KEY #7X33 LEVER / REMOTE ROD NO NO Low noise engine stage2

Al; push rod, low noise fan cover

GX270UT SXE4 DUAL 1A LEVER YES NO NO YES NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX270UT SXQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX270UT VKQ4 DUAL NO LEVER NO YES YES NO NO YES YES 12V-25W STD NO NO NO FUEL TANK WITH GAUGE TAP 1/5 INT M10X1.25 YES LEVER / REMOTE CABLE TOOL KIT NO AEBI (Swiss), colour black

GX270UT VMA4 CYCLONE NO LEVER NO YES YES NO NO YES YES NO STD YES NO NO NO ENG SWITCH TAP 1/5 INT M10X1.25 NO DEFLECTOR LEVER / REMOTE CABLE NO NO BOMAG

Short tapered shaft, 3600+/-150rpm

GX270UT VME4 CYCLONE 1A LEVER NO YES YES YES NO YES YES NO STD YES NO NO NO STOP SWITCH TAP 1/5 INT M10X1.25 NO DEFLECTOR LEVER / REMOTE CABLE NO NO BOMAG

Short tapered shaft, 3600+/-150rpm, no rectifier

GX270UT VN17 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES NO NO TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER NO NO Low noise engine: plastic gear

GX270UT VSD7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO Low noise engine: plastic gear

GX270UT VSD9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO Low noise engine: stage2

Fuel tank rubber mount, Al. push rod, low noise fan cover

GX270UT VSH7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO Low noise engine: plastic gear

GX270UT VWA2 DUAL NO LEVER NO NO YES NO NO YES YES NO SILENT YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO Balancer shaft

GX270UT VXB7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER NO NO Low noise engine: plastic gear

GX270UT VXB9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT 100 DB YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES LEVER NO NO Low noise engine: stage 2

Rubber mount fuel tank, Al. push rod, low noise fan cover

Supplied loose: governor spring

GX270UT VXE7 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT 100 DB YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER NO NO Low noise engine: plastic gear

GX270UT VXE9 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT 100 DB YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER NO NO Low noise engine: stage 2

Rubber mount fuel tank, Al. push rod, low noise fan cover

Supplied loose: governor spring

GX270UT VXQ4 DUAL NO LEVER NO NO NO NO NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF NO NONE LEVER NO NO


